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Topic: Mathematics-Section A

Item No: 1

Question

D- 100001

Question

Type: MCQ

Queston: | £1 1123, 41 = {1,2,3,4, 5,6}, sl f(1)+£(2)=f(3) Q4 L g4 (el v
9.

A: 60

B: 9()

C: 108

D: 126
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Item No: 2

Question | 100002

Question

Type: MCQ

Question: | ™ % B ¥, 8 2 A0 ¥4 +23 +x2+x+1=0 il ofley €14, Al a2021 42021 42021 4 52021

A: —4

B: -1

C: 1

D: 4
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Qlfestion 100003

ID:

Question MCQ

Type:




_ neNHRZ YRS Sy = {z e Cilz—3+2i] = 3} AT, = {zec: z-2+3i] = 1} 3. dLaw
Question: 4 n
IneN:S AT, =d} 4l uell vl 23
A: 0
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
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Question ID: 100004
Question Type: | MCQ
Ml ela
3 (sin 38) x—y+z=2
Question: 3 (cos 20) x+ dy+3z=3
b+ iyt iz=9
A G5 A 1M ddl 0 € (0, 4mr) -l Hval 8.
A: A
B: 7
C: 8
D: 0
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Item No: 5
Question ID: 100005
Question Type: | MCQ
. = 1 gt =
Question: e, ﬂq (\/112 R AT To +B) =0 ¢, dl 8(Dt+ B) =
A: 4
B: -8
C: —4




D: 8
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Question 100006
Question
Type: MCQ
- = 3 ; .. . ~ =
Question: | ™ (B8R f(x) = (12— 2x +7) o —127~180x+31) o 2izie [ -3, 0] Ui Heeim Mzl et flo) d,
al :
A: o= U
B: o= — 3
c: ae(—1,0)
D: ae (=3 —1]
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QLfestion 100007
ID:
Question
Type: MCQ
Quest a5 y(x)=axd +ba2 +cx +5 2 x-218 (615 P(—2, 0) 240101 32U S 24 y-2481- (615 Q 241010 51U
uestion: - : N - . -
O, sadl ' 23 9. ol y(x) | el W Yy 9.
A: E
4
B: 2_9h
4
C: E
4
D: 2
2
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Question ID: | 100008
Question
Type: MCQ
Question: | A={(x, y): x2 = y < min {x+2, 4—3x}} gl 2UA UEU- &ASN 9.
A: ﬂ
8
B: E
6
C: E
6
D: E
8
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Question
D: 100009
Question
Type: MCQ
SIOUGL sizalels vl x W2, [x] 2 x5 adl A, dierd Wizl youls gald 9. iRl & f 2
_ 2 3 ™ . . -
fx) = ¥ =[xl ] RPN EE ) ey R, 2dua [—10, 10] vz, aralds (@8 8.
Question: 1+ [x] - x, od[x] YU S
'1'1'2 10
dl 40 I f(x) cosmx dx < Y& 9.
—-10
A: 4
B: 2
C: 1
D: 0
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Question 100010

ID:




Question

Type: MCQ
2x =

s ¢ y=y(x) wall SueL Big (v, y) 200 ruelsl s 26 6e_2x+ 8. ot c 3 Bigail

Question: 2+ 9%
1 T e 1 . =

s == L 2 2a , -

[ =4 2\/5} i (u, e )meﬂumam dl e
N 3+42

3-42
N 3 (3+42

J2 \3=42
N 1 (J2+1

V2 (V2 -1
o, V2 +1

V2 -1
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Question ID: 100011
Question
Type: MCQ
Question: | [Asa AHls0L (x —y2)dx + y(BGx + y2)dy =0 -l cuius Giq 9.
(2 +x)4=C|(y2 +2%)}
0P+ 204 =P+
c (2 +2)°| =C @2y*+x)*
D: 2+ 2x)3| =C (2y2+x)*
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Question 100012

ID:




Question

Type: MCQ

s sl Wiel el auoll 2is e, [©ig A4, 3) Wit YR WX O 2 L x—y—2=0 [¢ig B 4l 9t
Question: J_ )

. ol Lovis AB Al dond ~—— €y, dl B 2 VLR YEL 2U9Y B,
A 2x+y=
B: 3x —2y=
C: x+2y=6
D: 2x—3y=3
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Question
D: 100013
Question
Type: MCQ
Quest UL S A 22+ (y—1)2=1 o o¢iRel Ul 2 x-248 YEL 2L 248 gl g (o, B),

uestion: N 4 - . B,

B> 0l [Agua L ©. dl L 24l 30U y=4 93 29qd M2l &lAsn 8.

A 3242
3
5. 4042
3
C: 6_4_
3
D: g
3
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Question
D: 100014
Question MCQ

Type:




QA X3 ¥t 277 JyaavAdved FoYoZayfoY_oZ
Question: 9 I =5 2 3 5 d 7 8
ULl Yuddn dot €1 dd, uudd WHlsL P O, o [ (2, =5, 11) 4l P« @ik d €, dl d2 =
A: E
2
B: 96
C: g
3
D: 54
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Question
D: 100015
Question
Type: MCQ
by > T ol % = Py
Q2% ABC 31 21l BiSloL 93 el BC = _;: CA = b, AB = ? :| = 642, §| = 2./3 i
= S Y e
b c =12. ARl [Gauel 41 dl.
. s1) - (—) —>) (—) —>) |—>‘
Question: | (S1): \a x b) + ¢ x b)| = |c| =6(2v2 1)
of B
(S2) : ZACB = cos 3
ol
=, sy o=
A (51) 21 (S2) et UL ©.
B: g5l (S1) o U1 O,
c: g5 (S2) o U 9.
D: (S1) 24 (S2) ¢ M2l 9.
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Question

D: 100016
Question
Type: MCQ
Question: s (Fuel [Creidl weus i (G0l UL 247 IRUSIR 25U 24 24 128 ©. dll 245 2L A
| sl M a-l 2ieud-L 23
33
A 32
2
33
> 529
2
33
© %8
2
33
> =
2
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Question
D: 100017
Question
Type: MCQ
Question: ol U5 89 OlleyAlO UHALE UIMLA O A Gl dell ¥R sdel Wouel Hvaiidl o 24 B €, dl
C | xeRURZ 24+ ax+p > 0 U d-l 2eua- 9.
A: E
36
B: E
9
C: l
2
D: E
36

Topic:

Mathematics-Section A




Iltem No: 18
Question ID: 100018
Question Type: | MCQ
i e ™ - % * =
Question: —4m < x < 47 €4 A4, |cos x| =sin x -l Giai-l v 9.
A: 4
B:
C: 8
D: 19
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Qgestion 100019
ID:
Question
Type: MCQ

25 U ailcisy WeL ur s 2193 PQ 24l Ald GHAl © 3 sv2ll dedl Wl Q HEL WR ¢l [C1g R ¥l etz
Question: | ¢ oLl 2L {ld [Geumd 539 5 o/l QR =15 m AL, ol HEL WL 245 (045 A Yl R L Geie slaL

60° €14 i 21aRAl L PR 2L A 249101 15° «Al WRIL 2AidR ol 21 2laz-ll Giud 8.
A 5(24/3 +3) m
B 5(v/3 +3) m
c: 10(v3 +1) m
D: 10(243 +1) m
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Question ID: 100020

Question Type: | MCQ

Question: | el 244l US| £ (el [t U B 7

A: (~p)vq) =p

B: p=(~p) va




C: (~p)va) =¢
D: q=(~p) v 9
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Question
D- 100021
Que§tion Numeric Answer
Type:
2 -1 -1
b e = [ '\/5! - 1 T ™

Rl 5 A=|1 0 -1| 2d B=A-1 9. ol o= —— 44, dl A
Question: 1 -1 0

{ne{1,2,..,100}: A™ + (@B)" = A + B} i uedl-l 2iva 3.
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Qgestion 100022
ID:
Que§tion Numeric Answer
Type:
Question: | 1L°E MANKIND' il G 2 AU sHUL @l e 2430 CESIY Horor sUHL dllsAAlil 209

| 9. dl uee 'MANKIND' L s3 20w 23
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Ql.festion 100023
ID:
Ques.tion Numeric Answer
Type:
1 15

-~ 2 % (1 — J'C) 10 - . . ~ N
Question: | ™ |V Xt ——| ;22 0, Al [qczorml t Ul 2adat el Hedd Bud K ¢id, dl 8 K
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Question 100024

ID:




Question

Numeric Answer

Type:

QLS a, b 2 oL Yrdo? el dvail 9. ot p 2 r 2L 95301 2 Bax +2a =0 i oflsy €l

, 5 2 = =] 1 1 1 1 ; R
Question: | A q @l s 2 W53 x2 +12bx +6b=0 i ollsy €14, % &l —, —, —, = 2 Hxicz ALl A,
P qQ T 8

dla"l-b~1=
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Qgestion 100025
ID:
Question .
Type: Numeric Answer

Q2L 5 a; =b; =1 ¥l Ucls Uiglds dvin > 2 W2 a =a, +2 2 b =a +b, _, O.dl
Question: 15

Z an 'bn =

n=1
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Qgestion 100026
ID:
Que§tion Numeric Answer
Type:

. ‘4x2—8x+5,°ﬁ8x2—6x+130 .
URLS f(x) = R S.
- [4x2—8x+5J,m8x2—6x+1<[},

Question:

srdl [a] 2 s Al «Aietl Hedd Yeuls g2lid ©. dl sl f[Asardldd €l ddl R i [Cgiidl v

.
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Question ID: 100027

Question Type: | Numeric Answer




c e T
ol lim ~—— [(nk+ 1)+ (nk + 2) + ... + (nk + n)]
Fises k+1
n
Question: 1
m— - - - -\
=33~ lim —— [11( & PP R bk nkJ i,
n—oo 1
™ L3
dl k «l yeuls Gud ®.
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Question
D: 100028
_?ues.tion Numeric Answer
ype:
Quest UIRL S 22+ y2— 20 +2fiy +1=0 -l o Al UHSU 2pr —y =1 24 2r+py=4p ©. dl il
uestion: " u P
Al Srguigll wMR udl, 2AAdqd 3x2—y2=3 AL Fu2is-l 210 me(0, =) L 9.
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Iltem No: 29
Question
D: 100029
1Q_ue§tion Numeric Answer
ype:
(i) wedd 7502 =64(5y —3) < [ﬁ 9) [Ggad 2ualdl 2 (i) -5 2ueldl aqolil el
Question: 5" 5
AL 9.
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Question
D: 100030
Question .
Type: Numeric Answer
~ A X— -1 o i IR -l P y 5
il X2 = Y — % v = = % 5 = T g iR il v, 3 iad
Question:

P:ax—y—z=0, (a>0) A&l cos_l[ /2—2?] Al WOl e ©. od (65 (1, 1, —5) - AHdd P i

Al (o, B, y) €14, dl a+B—y =
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Qlfestion 100031
ID:
Question
Type: MCQ

ol SO [P], BASO [A] 24 MU [T] A Oeid R azls deml 20, dl 2t 2jeis- Rl
Question:

Yt U3l
A: [P A~1T9]
B: [PATY
c: [PA1T]
D: [PA-1T ]
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Question ID: 100032

Question Type: | MCQ

Question: Al2Anil 59 ofilas Qi 2w s
A. L (_>) 8
- 2R U (D) 2y [Seaeir sl
B: 2L, Nl 21 [Ggasi
c: HALE HeAdl 24 Y8 [Agdeur addl
D: [Qed Al 24 Glod
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ltem No: 33
Question
D: 100033
Question
Type: MCQ




D e ddouisiz Hiol Gur 2uglami saiedl Ui A Ul B U odd 8. ol d 60 m 7ed icR siudl i

Ry 1

ol el R&UALAR Y (Uieis) qvteel m YL

(cos135°= — 0.7 2Aud ©.)

Question: B ,,\
o A

A: 42 m
B: 47 m
C: 19 m
D: 40 m
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Question 1 100034
_?;pees:tlon MCQ

| 05 kg g axadl akg o= 322+4) m/s L PRl dava ol s 8. dlx=0dlx=2m
cuestion: ELRAIAAL RUAIAAR W A 121 A wRewl 1 ST s 2l
A: 64 ]
B: 60 |
c: 120 ]
D: 128 ]
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Question | 490035
Question MCQ

Type:




AUHLA €0 M e Blsrdl R H1edl 245 el A0Us 12 24 8 2l h GRUS BRIl c0dl SR 2AL51RAL HHAd

Question: | Guz, Guzel alhal dzs, aed . Avusiz-l sielld 2ugl 2t st sielly 2ug el ez
%2l.
A: E
3
B: E
5
C: E
5
D: E
15
Topic: Physics-Section A
Item No: 36
Qgestion 100036
ID:
Question
Type: MCQ
100 kg €0 4Gl AGL 2isUHIA A, B 21l C 50U Hlell 2011 Gur AB=BC =13 m % d d Hsaui
Question: | Aledl B, HHlA EOL BRI UL 581 P GUR F o72q I3ccistll A dl ©. P A el AC AL det [etsys
Guz 501 B Ul 13 m 2ick YsAUL 294 9. F «f Y U3l
A: 21G
B: 100 G
C: 59 G
D: 42 G
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QL_Jestion 100037
ID:
Question |, ca

Type:




27°C Al 2 2 X 107 N/m?2 §ollBl ¢l V S8l 2045 sv2Uedl oAl drf 8 oqe] «AL 2 cul yell

Question: | ¥HAMIY (A3 el 24 B, wesl oyl A goy wBLSE GE] U d A [GecaReL WA ©. qiy- 2ildy
EAIBL € (y=15 dl.)

A 3.536 x10° Pa

B 3.536 x 10° Pa

C: 1.25% 10° Pa

D: 1.25x 10° Pa
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Question ID: 100038

Question Type: | MCQ

[ e i,

(A)  oAIR AUl Belsel iy 24l uR12L 2(AGlad 8l ©.
(B)  EUUBL AUzl Al 2ABL U312 IUAGld w48l ©.

(C) & AaRel 41y 20l Hz212L 2UAGled 21 .

Question: .
(D) cll¥Hied Q8L 9 EA1LL 98 .,
(E)  cll¥™ird YelRcll sy 5€ 8l 9,
A2 2L [Aseuimioll AR G YE 531

A 5 (A) 244 (D)

B: s5d (A), (B) i (D)

c: $5d (B) 21t (D)

D: g5t (A), (B) i (E)
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Question 409039




Question

Type: MCQ
k [2m| Kk k 2k
%
/7.
A B
Question: (4) ®)
2415t (A) U2 m’ £ ‘m’ €0 BUR sy sl 2Uedl 9. m g0 k svedl (oL 2u0is diadl (Rl wl
sl Sl 294 8. 215(A (B) Ui ‘m” €N ‘K 2 2K [RB1 21anist diddl oL (Bl 8 sdsami 2udd
O. ol (A) 4l EO ‘M’ L 24 (B) Ui €N ‘m’ «L ¥ 2 WASAUML U8 dll, (A) 24t (B) o 20434 25l
T, 21 T, Hlsze 234l
A L _ 3
T, 2
B: iy o 1S
T 2
C: _E._ — 2._
Ty 3
D: _Ti — _.\/_E
Ts 3
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Qlfestion 100040
ID:
Question
Type: MCQ
2 wF deRsdl d14g 1azs 0 8l 5 C Yl udd Ad [yacula am o, d-dl vadia wiar Rl
Question:

cglelael UEURS YL [AYaotrel Uil 535R lAdinial v ARl 2la gulast,




Z
= 5%
X
A: o
? y X3 SRR '
0 5— Q(C)
&
= 5
X
B: bl
? 2.51
0
>
7 By
X
C: e
?’ 2.91
0 5— Q(O)
z
= 5%
X
D: e
?‘ 25¢1-----=
0 5— Q(C)
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Question 100041

ID:




Question

Type: MCQ
U1 91 [AGled BzletdlL G [Ggdena seil aufd-l (Buq dozi el [ubid 2esly gemial i srigami

Question: | 2419 &, sl AUl AGUUSI2 Wil Fseiilel 248l 61 5 Gl 2 duel 80Tl 9JRldR 9+ 4 €1, cl du-il
Yael dlsyeiRieAL 2)eliz a3l

A: 345

B: 5:4

C: D3

D: 337
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Item No: 42

Question ID: | 100042

Question

Type: MCQ

Question: | sy=t2e2 (Ggor) U18-AL ALl LCR 4Rl 21l 2ugld deuzel Wi

A: Ggotu gt dardl alg.

B: Yedl 20aRiaxAL 202 Aol elled AUR1E sd sl gL,

C: ueal AeuRsl 218 Aellul ciled AelRs st sl sdS2L.

D: strizezAl 24 fx selsdl sdg,
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Question

D: 100043

Question

Type: MCQ




[ AAlsy B1CL AIReAL DS 2134 JA0UA L (L >> 1) clizedl edlat el 2134 20Ul 2482 YsAUHL 219 S, vid

AOUAL 245 o UHAGHL D Al Al Srgl 2Ag(cul saledt AR (G5 O 2010 Add U O, ot

B[y, 2R Y3l
L
Question: [
Ll i & [t [t
DR
* .......... L ...........
2
A: 2\/5 oL
rl
2
242 wL
2wl
C: 5]
L
2
D: —l‘l{] L
22 wl
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Question
D: 100044
Question
Type: MCQ
5 HUIAR e UARSUL ALEs Uelldd rms Y 6.9 pA ©. ol Hallzs 600 rad/s, L s1ell 2ule d31adl
uestion:
230 V -l ac GgalH I sd el 208 dl Aarsl Heuzsdl ¢l
A: 5 pF
B: 50 pF
C: 100 pF




D: 200 pF
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Item No: 45
Question
D: 100045
Question
Type: MCQ
Question: | [ 412 3% [Senq, %l.[ﬂ. O 7
A: afhs (o) UL 2AAELsASIR, 2l 101 A1 B3 dzg e sdvd] 2oL AR Al azs 9.
B: WAfs (You) R UL 2AdlsA51R sdetell 2oL A1l GUR dRg 2 sdordl 201 {124 -l dzs.
il (you) el usiel agol well- Juimisl ol 2uddl yddl o g yel 2Aidlks
C:
YA 20 O,

D: s (o) Hab-gw, olel Wae-w s3dl 240] dladl gzid 9.
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Question
D: 100046
Question
Type: MCQ

U2 oy 2 g 72l AslOAls BR1CAAL 2L AL adSLD LA sy EL- yEL WIELHIAL 2l s2etl dwledl
Question: | AUA 2AsUE, 2 t, O. ol t,—t; =5X107 05 2k pu, A pp Al YRR 1 : 2. €13, ol geedl eSS

23Ul 2L A il B HIEHHL US121AL Q0L 25 0, 24 v 2AUA .
A: 5x10—10 v, m
B: 5%10° m
C: 15x107 10 m
D: 5x10—10 v M
Topic: Physics-Section A

Item No:

47




Question

D: 100047
Question
Type: MCQ
25 &g UR 800 nm RSl UsIL WS B, ek 500 nm dZIECADAL U512 AURALHL 29 B AR
Question: . . C en - -
U §le19Ag AL 2U[ABlad cnell wid ©. g srilaay €2l (hc =1230 eV-nm dl.)
A: 1.537 eV
B: 246 eV
C: 0.615 eV
D: 1.23 eV
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QLfestion 100048
ID:
Question
Type: MCQ
m £0 A1l 24 n oAl SEHLOUA $201L 581 WL ST AL (L) U3l 061 $ellwed A 2AUIR A2 [ui]
Question: ) . . L
Al Aot U O, 3, N B ASOUAL dRodeds O,
A Ak
27r
B: E
2r
C: ﬁ
21
D: m
nh
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Qgestion 100049
ID:
Question MCQ

Type:




(8 53 UHEL Sl 24 L sved s18{lA013IA BRIl DAl (o) <l etsld s

Question:
ol 2l s Y.
.%
A: o elL
K = —
L 2m
.%
B: w el.
hy = —=%—
L 2m
_._}
C: o . elL
phy == —
m
_)
D: - 2eL
= —
m
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%feSt'O” 100050

Question
Type: MCQ

YRYUMHL ordR A AL B 210 RU[AHIA S V¢ R dAlsd FUud A=1289B=1 9, i s
A 2341l B 2010 RUAHIA 0 V ¢l R dsd Bud A=02841 B=0 9.

Dy
A—K
Question: D, Y
B < R
l 5V
= V=0

ANA WY W ucEd wRell (¢ 2ud) >2L.




A B Y
0 0 0
A: 1 0 0
0 1 0
1 1 i
A B Y
0 0 0
B: 1 0 1
0 1 1
1 1 i
A B Y
0 0 0
C: 1 0 0
0 1 0
1 1 0
A B Y
0 0 1
D: 1 0 1
0 1 T
1 1 0
Topic: Physics-Section B
ltem No: |51
Question | 100051
%‘pe;tb” Numeric Answer
Question: 245 513 150 km/h L s vl aila 53 9, els @ouedl oUe d 27 m 2R sl d 218 ([(U2) 9. el 216

$12 AlAd 28U sl 25 gladian 354 Ald s3dl ¢l dl d m iR sl U2 w2l
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Physics-Section B

Item No: 52

Qtfestion 100052

ID:

Ques.tion Numeric Answer

Type:
15[l 2L 2AqU1R (15 P A0 2412 AN AL S AN F | A F, AL oRIdR 1: x dl cdlx =
Y31,

Question:

Topic: Physics-Section B

Item No: 53

Ql,.lestion 100053

ID:

?ue§tion Numeric Answer

ype:

L dotldel 2 r Badlrl diza 215 991 21NN €2 Zd sy s ML 2UAd 8. izl “led 991 stz F A g121

Question: | WAL U 8 AR ddl dAld 5 cm svedl 98 9. 4L delld 2 4r [Biel el 24 HH LA gL Al
oflod AR 4F 0400 gL WAAML 2 ©. dl dlzeAl dedul Adl aezl Y3,
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QLfestion 100054

ID:

Question

Type:

Numeric Answer




syEl-syel dondel o 2 divigel ordl 248 [g-tucdly vgl (bimetallic strip) 98 215 Mgl (Wu-
Ygl) il © 5 ovell doitd i A8 s Adl 24 20 cm el UM 3¢, AL i Besl (Aigil)
Question: | -l dettd el {ld vz © F evell Al dRAAL oAl dsidd 240 3¢, ol A Al delld 40 cm 4
L dlvicHl doud cm &2l
(i =12%1075 K1 o @, =1.8Xx1075 K1),
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Item No: 55
Question | 490055
_?;pees:tion Numeric Answer
215 245512 18 km/h <l 2364 12 253 s UsA ¥ A[A 53 8. d dAl wen ¢a Ggarnuisdl Hlel
| sy WAL © Gurid esdlall vraldd ey oL Mo B, GEAA g1L Gour Y 2udld 640 Hz €M
Queston: il gellil Al A9 320 m/s €l dl 2SR glRL 20 A 2Helled (sa[H21) 9L Aeidl 29Ed]
2419[xt Hz ¢2L.
Topic: Physics-Section B
Item No: 56
Question | 100056
_?;pees:tion Numeric Answer
6 m Bisedl 319l otioul 58 [Eegaeuz sddl 2 pC/em? 9. sliouddl Awdlaisdl iz 2uedl ulq 2is4
Question: | Y &lsul gls e Jvudll v x 1010 NC~1 el
[Given : Permittivity of vacuum €,=8.85x10"12C2N~1-m~?)
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Item No: 57
Question ID: 100057

Question Type: | Numeric Answer




™, . * -
2 2s(dul, v -l Bud V el
2V 1k
I AYAVAYAVAY
4V
Question. | 1 kQ
uestion: | W
oY 1k0
, AYAAA ff
0
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Qlfestion 100058
ID:
Que§tion Numeric Answer
Type:
Quest [ ol el d i BRLEAL 208 SIHRAL dRIA Sl R 2404208 BR10dl 218 A8 dles otrlldeliml 209
uestion:
9. ol 21 Aol 2Us $1U2 i YOl 2UAL U VAR 1L dl el e d sl
Topic: Physics-Section B
Item No: 59
Ql{estion 100059
ID:
Question ,
Type: Numeric Answer
sdotdl 91 (aZatdeud =4000 A) Al LED ot-llddl Mle 28dles geurl eV sfedl Glod
Question: ArsAY 2L
(A295cu Yuuls UL Qvil)
Topic: Physics-Section B
Item No: 60
QL.Jestion 100060
ID:
Question

Type:

Numeric Answer




6.03 svedl sl 20adl 2% d U2 TV ezl o33l Glud h ©. ol uz2L axdl s-dl 100 e 22y Bl

Question: - - < ; . ~
€l 24 yeelledl (isdl 6400 km € L h o Hed Hlerul YL,

Topic: Chemistry-Section A

Item No: 61

Question

D: 100061

Question

Type: MCQ
SO,CL, &g st el 2008 Ml szal RS Biel ui vk 8.
S0,Cl, +2H,O —» H,50, +2HCl

Question: 272 2 27
2L WReuHl 2Rlks s e s2¢4L 4 ot 16 Hld NaOH sr3l € dl quzal SO,Cl, AL Ha-l,
vy

A: 16

B: 8

C: 4

D: 2

Topic: Chemistry-Section A

Item No: 62

Question ID: | 100062

Question Type: | MCQ

Question: A2l UYL SlweH 2USIAL A2 (U3e) Higll 4L A g s3eml 2uadl 48l ?
A: w5 i, v sl g B
n=3,1=2 m=0,s=+ 75
B: 1 O - |
n=3 1=2 m=-2s=+ 3
C: LW O
n=3,1=3 m=-3 s=" 3
D:

n=3,1=0, m=0, 5=~




Topic:

Chemistry-Section A

Item No: 63

Question

D: 100063

Question

Type: MCQ
0.5 mL L~1 Higdl drou s104s 2dlsl gleaei sz (G5 i a4 0.0405°C et Hodl, 51605 ARl

Question: | &edl 1.05 gm mL ™! 8. dl 5l0s 2ARSAL gla@il dlre dlg 2494 9.
(k;=1.86 k kg mol 1)

A: 0.8

B: 1.1

C: 1.9

D: 2.4

Topic: Chemistry-Section A

Item No: 64

Question

D: 100064

Question

Type: MCQ
20 mL 0.1 M NH,OH 40 mL 0.05 M HCI 218 (4% s3etii 241l L 24 Bael pH
2]

Question:
(Q&Lﬁt-t ¢ Ky(NH4,OH) =1x 10773, log 2 =0.30, log 3 = 048, log 5 = 0.69, log 7 = 0.84, log 11 =
1.04)

A: B2

B: 4.2

C: D2

D: hi2

Topic: Chemistry-Section A

Item No: 65

Question ID: | 100065

Question MCQ

Type:




CRIES BRI | ED RN
Yl - 1 yell - 11
(A)  Ny(g) +3H,(g) — 2NH;(g) I Cu
Question: | By CO(g) +3H,(g) — CH,(g) +H,O(g)  (II) Cu/ZnO—Cr,O,
(C) CO(g)+H,(g) — HCHO(g) (I Fe,0,+K,0+ALO,
(D) CO(g)+2H,(g) — CH,;OH(g) IV) N1
oA=L 24U [Eseuimizl AR syaet LAl
A: (A) - (1), (B) - (IV), (©) - (D), (D) - (II)
B: (A) - (ID), (B) - (I), (C) - (IV), (D) - (III)
C: (A) - (), (B) - (IV), (C) - (), (D) - ()
D: (A) - (ILT), (B) - (), (C) - IV), (D) - (1)
Topic: Chemistry-Section A
Iltem No: 66
Question 1100066

Question
Type: MCQ

Question: | 45 dcdt s/ CUEL desglAld UL [Rn] 5f146d17s2 9. dl [UPAC -M$2EL Yored o

A: Unnilbium

B: Unnilunium

C: Unnilquadium
D: Unniltrium

Topic: Chemistry-Section A
Item No: 67

Question ID: 100067

Question Type: | MCQ




suzeAl [Aes oL qi Aoy (<L) & o 2601 (slag) dils 52 sl 209 © d,

(A) CaO
(B) FeO
Question: (C) ALO,
(D) ZnO
(E) NiO
A2 2uaL [Esedimisll AL sl YHE S3L
A 55 (C), (D)
B: 35c (A), (B), (E)
c: 75 (A), (B)
D: 4 (B)
Topic: Chemistry-Section A
ltem No: |68
Question 100068
_I(?;pees:tion MCQ
Question: | Wi2e{l¥ waBiAe-l 2ARS werwul HyO, A8 3B s2al you ol dzg Eldl sl B,
A: Mn?*
B: Mn?+
C: Mn3 *
D: Mn® +
Topic: Chemistry-Section A
Item No: 69
Question ID: | 100069

Question Type: | MCQ

Question:

5L BlgALAL el AL $4 WRUE 2.




A: Li<K<Na<Rb<(Cs
B: Li<Na<K<Rb<(Cs
C: Cs<Rb< K< Nac<Li
D: Li< Na<K<Cs<Rb
Topic: Chemistry-Section A

Iltem No: 70

Question ID: 100070

Question Type: | MCQ

Al 20 WEAAL oAl Aldsy B UL eAlRlA sy edlsy oAl 20,

Question:
BE, + NaH — 29K | A 4+ NaF
A + NMes — B
A: [Estelld quddl
B: Ugrsasla
C: DEIORS<]
D: HUAA U
Topic: Chemistry-Section A
Item No: 71
Question ID: | 100071
Question
Type: MCQ
Question: | f1[Hed 212 A UHIGLHL $ALRA 1AL WL UL oAl AR Edtlsyet Aoyt 2UHL
A Sl
B: ¢de (Halate)
c: Yede
D: R




Topic: Chemistry-Section A
Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: | M5l UL YUY o UAq 8l d
A: NO

D: HCHO

Topic: Chemistry-Section A
Item No: 73

Question

D- 100073

Question

Type: MCQ

s Aol A" Al X 2 Y” 218 UL s, UVl Yo {lusy 24U & uid syel syel el lusy ‘a” i
b AU S, ‘@’ o 2UlsUldUA 52l o 25 wELE WOl d SLETAL g1R1LURL ML .

Gy GHs
Lﬁ- a+0=C-CH;—C—-CHj
CH, CH, |
Question: I | CHj
H,C=C—-CH,;—-C-CHj
| CH,4 CH,
Hs | Y, p+0=C-CH,—C—C
Adlore A’ RS
CH,
X7 2L 1Y’ A5 2UAL
A KMnO,/H* i+ g KMnO,, 273 K
B: KMnO, (), 273 K 24t KMnO,/H*
c: KMnO,/H* 24 O;, H,0/Zn

D: 05, Hy,O/Zn 244 KMnO,/H*




Topic: Chemistry-Section A

Item No: 74

Question ID: 100074

Question Type: | MCQ

AAl2 240 ulbAui 201l ag R ey 2L,
OH

Question: () HsC ~©— SO,Cl, RISl

(ii) NaCN, DMF

>

SES AR




D:
Topic: Chemistry-Section A
Item No: 75
Questi
Dot 1100075
Questi
T;Ipees: on MCQ
Suestion: A2 2400 U512l US| s Ui Buianr 2 Adlusys 2udl WR R dso M2l 26210 (combination)
e Rey2ildt 53¢t A2l ?
O O
A Cl H, H
).
Pd.BaSOy
O
CN

B:

(i) DIBAL-H H

(i) H,0

O
CO,CyH5

C: g :

(i) AlH(iso Bu)z)h H

i




O
D: OH . H
(I) NﬁzCI’zO? 5
(ii) H,SO,4 H,O
Topic: Chemistry-Section A
Iltem No: 76
Qgestion 100076
ID:
Question
Type: MCQ
25 s100[1s 2oy A7 Al WAL NH, odd 53 ALE AR S3clL Alovet ‘B HILS. syl 249101 9 IRY 53l
Question: | ajlsyst ‘C’ (CgHNO,) HA &. idllsy<t ‘C <l Sielletest b da-las KOH, 2uesida dalds 244
Bilesal U srn[CAotiore $3cl MAMS S 20 D, ofl Aoy “A” LA
CHO
CHO
CHO
COOH
COOH
COOH
CHO
OH
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100077




Question Type: | MCQ

Question: | WAL CAges {12 2L Higll sl s glRLAA D 7

H>N NH
N
g

+ HCHO

NH,
H>N NH
B NTN + HCHO
NH,
H,N NH,
+ HCHO
C:
NH,
NH,
=
> N + HCHO
NH,
Topic: Chemistry-Section A
Item No: 78

Question ID: 100078

Question

Type: MCQ

Question: | MIZLALAL [Agcllszel x [, Al 2aL Higl £ iaReL 245644 (intact) 282 7




A nUHs

B: (el

c: qly

D: Aq s

Topic: Chemistry-Section A

Item No: 79

Question | 100079

_?;pees:tion MCQ

Question: | NEL & 1€l UEIEL BUR sds 1M, dusy cirtl §ERCl SLde [HRUEA 53 © 21 2R A §SAL S A2dird 3 5¢ 97

A (L [Hze

B: e LA

C: idizelle

D: Ua [@rermdey

Topic: Chemistry-Section A

Item No: 80

Question ID: | 100080

_?;pe;tion MCQ
A2 o (A8l 2udaL 9

vt [Qeud1: [Paxid A KHSO, 18 2234 53l [Hs/elsael wall 2isidld v 9.

T Bt Al g 2l d wR A ol Bl suordl sdl g7 B,

By [CeurinL Agelul, 121 2udal [Sseqimisl AL syeled vis 531

A o [ T 2 (e 1T 2102 9.

B: o (G T 24 [Ceu 11 viiel 9.

c: Qe T3 © 4oL vig [[an- I1 v ©.




D: [Qeue T © weLviq (G- 11 0 ©.
Topic: Chemistry-Section B

Item No: 81

Question ID: | 100081

Question Type: | Numeric Answer

VRS EY EYREL|

. + s Z + = 2=
Question: Ny No™, N7, Ny, 0,,0,7,0,7, 0,
- [ ™ - ™y
Uldoisludl gauiadl Ruadlasidl Hva .
Topic: Chemistry-Section B
Item No: 82
QL_Jestion 100082
ID:
Ques.tion Numeric Answer
Type:
U, Aside 2 SedSlor-l 298 K 2 gl 2ied1edl 253, —2220.0 k] mol—1, —393.5 k]
Question: | mol~! 24l —285.8 k] mol~! ©. dl Miud (CoH) Al Ao/t el et
k] mol ~1 (1251l yuuls)
Topic: Chemistry-Section B
Item No: 83
Question
D: 100083
Question ,
Type: Numeric Answer
27°C 2 e{l-AL (moist) A 4 EASL 4 atm ©. L6y (UHLA) Al ol WA 58 G S 219 © ol
Question: | ®ldl g Ag gl %1071 atm 9.
(e 21 27°C wielld ey geuel=04 atm.)
Topic: Chemistry-Section B
Item No: 84
Question
D: 100084
1Q_ue§tion Numeric Answer
ype:




298 K i Zn|Zn2+ (aq)|[Sn* | Sn Al s Wi [uud 0.801 V 9. 20wl wbu ewosn 1072 9.

2N [Aggd U815 sl uBHIML s SasgiAl-l Hval .
Question:
(%’*LL‘?{Q: B’ =—-0763V, E2 .. =+0008V gl a TR 0.06 V)
Zn**|Zn Sn*"[Sn F
Topic: Chemistry-Section B
Item No: 85
Qgestion 100085
ID:
Question ,
Type: Numeric Answer
ARG sA4IR AUy ECURL 500 torr €l cdIR Ay ddlord A AL [Qeied W2 2™ 240 5 B, oAk
Question: - -~ . < - @
EOALEL 250 torr 14 4R 8L 204 4,0 min YA O, dl WL Y B. (sl yelsul)
Topic: Chemistry-Section B
Item No: 86
Ql,.lestion 100086
ID:
?ue§tion Numeric Answer
ype:
{12 240AL Al 2 BelH e dl.
[Co(NH,)l**
[CoCl(NH,)]**
Question: | [Co(CN) >~
[Co(NH,)5(H,O)]?*
A 50l 55 2l Yoasld s B.M. 8% of 4511 &5l datdond Uz M1l Aaeiinel 2
O. (sl yels)
Topic: Chemistry-Section B
Item No: 87
Ql{estion 100087
ID:
Question

Type:

Numeric Answer




Co3+, Ti2t, V2+ el Cr2+ el UL, 245 5 syetl UBus s Gualol 3120 Uik o e wieley 2448
Question: | gletel Hisll @idglort Yoot 3L sl Al ddl s 2eranl 1A sad sl 2w
B.M. ©. (sl yells)

Topic: Chemistry-Section B
Item No: 88

Qgestion 100088

ID:

Question .

Type: Numeric Answer

sl 67 Coled HER(d glRL 25 s[5 gl el AUSgleyeid URHIMA 53clL, 0.25 g Axdlsr igl lsadl
Question: | 23i[4L 5 &7 2.5 mL 2 M H,S0, - cex 53 O, dll s1¢ilnts 2ilsr=ui dlovz Adglov=t L estausl
9.

Topic: Chemistry-Section B

Iltem No: 89

Question ID: 100089

Question Type: | Numeric Answer

Question: | R4sells CHN Ul sp? 2isdld s1ei--l 2dva ®.
Topic: Chemistry-Section B
Item No: 90

Question ID: 100090

Question Type: | Numeric Answer




Question:

2 Nd UL,

H;C

B
C-0OEt ~
OEt . .,
(v <lusy)
CH,—C—CHy
B

(sidl Bt —C,H; 9)
“Alusy ‘A7 Ui (31a sloei /AL Al 24 8.




